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( , 2) (2, 4) (4, )−∞ ∪ ∪ +∞
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d

sex
dx

= − − − − −
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sin

1 sin
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sin

1 sin

x
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1

1 sin x−
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logb ac = − − − − − −
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log r
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[ ( )]
D

dh x
Dx

 = − − − −
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dy yx

dx y x
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then find the slope of the tangent line at the point (2, 0).�
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1
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3 1

x x
if x

Let f x x

if x

� − −
≠ −�

= +�
�− = −�
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At what points the function 
f

is continuous and discontinuous? At point of discontinuity if any 

explain why it is discontinuous?�
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Differentiate w.r.t. x by chain rule��
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Evaluate the following  limit. 
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lim ( ) , ( )

3 3 2y

y if y
g y where g y

y if y→−

� + < −
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